MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/bulding

The Airolite Company

P.O. Box 410

Schofield, WI 54476

ScoPE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed by Miami-Dade County Product
Control Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County
and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model K6746MD Aluminum Louver with and without VCD-40 Damper

APPROVAL DOCUMENT: Drawing No.K6746MD, titled “K6746MD Louver”, sheets 1 through 22 of
22, dated 08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E., bearing the
Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and revision date
by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Schofield, WI
and following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 07-1015.07 and consists of this page 1 and evidence pages E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No 10-0921.07

Expiration Date: December 6, 2012
Approval Date: December 16, 2010
Page 1




The Airolite Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. K6746MD., titled “K6746MD Louver”, sheets 1 through 22 of 22, dated
08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E.

B. TESTS “Submitted under NOA # 07-1015.07”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

2) Large Missile Impact Test per FBC, TAS 201-94

3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Series/Model ESD-635D,
fixed aluminum louvers, prepared by Architectural Testing, Inc., Test Report No.
74297.01-602-18, dated 09/25/07, signed and sealed by Joseph A. Reed, P.E.
Test report on Standard Test Methods for Tensile Testing of Metallic Materials, per
ASTM E8-03, prepared by Architectural Testing, Inc., Test Report No.74297.02-602-
18, dated 10/01/07, signed and sealed by Joseph A. Reed, P.E.

S

C. CALCULATIONS
1. Structural calculations, prepared by Rice Engineering, dated 09/03/10, signed and
sealed by L. David Rice, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS

1. Statement letter of conformance issued by Rice Engineering, dated 09/03/10, signed
and sealed by L. David Rice, P.E.
2. Statement letter of no financial interest issued by Rice Engineering, dated 09/03/ 10,

signed and sealed by L. David Rice, P.E.
3. Statement letter of conformance issued by Architectural Testing, Inc., dated 10/05/07,
signed and sealed by Joseph A. Reed, P.E. “Submitted under NOA #07-1015.06”
4. Private labeling agreement dated 10/12/07. -
If22/1°

/ Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 10-0921.07

Expiration Date: December 6,2012
Approval Date: December 16,2010



NOILYAI A S 5

ANIY L9 2 E
INNOW 3AFTTS Sohae B e\
ON_ONIAYRIT Y3 SEREE T m/
JANVHd JONVI4 Mmmuﬁm 38
¢¢ 30 YIANOT A9 L9 Se8Rs 25 °
G w 5 Noe b . Aunv S
'ON_L3THS __ JLIL E z 52 5 2 2= gz
174 9LvvS NISNOOSTH "0 13LIONOS O K 0 %9 % W Eozo
ERUAD <SYIOM 1DU) %00| ay] | S2EfE g8eo
Gz/8| San A °E8%
010¢/58/8 W SEHUTTIORINT W | &

=T

VERTICAL
CROSS SECTION

1) (3
N jié
R
T T
4\
NE

2
5/22

) $ @
J » i A
(o]
Te]
o
)
5
—~T
85
NN N U U R O A (N (N N N N OO [ U N N U Y O U N ol IS VY S Y S X.W
L]I.lu llﬁal.«l.!...l»l..llll,ll.llil[Illil.lnl'.l|||||l.|||.||||||(|lnll|.ll||llll.ll AMH—@.M_
>
o2
S0
ol
N
~
v
)
T
—
o
.um =
g B9 o
pd I = Z
e — T Z
&5 g o
8l it A4 LEw
WS Lnlll“_ ”“]lll|r|l|..\.|.|.4l{'||l.|..l.l..lll|lll||r|I||||.|€.J|nllll.l(|.||||. AMHmH._S _m-_ul_
oY Wy >
T 030 2
o o0 w
© oy
N mm
o =
—
et
@ U
-—|—h i
L= B
—J
& 2
~T
5
Rl IR I A N N A P e e O A ) ) M.w
(VI el § - Tl -t-rrTtr+r+rr~—11tT++r+-r—1TT T T+t | Iy
>
o2
o0
o
o~
~
‘mw 8
n
O
s XER
o n
. . . o =
mmrolv.r. IHOIFIH ¥3ANO0T IVNLIVY XYW 000 v¥1L o-ba— 9G 170 N
n
<2 1HO91FH 3IAFIFTIS 40 3AISINO XYW £Le'vvl = mu_nlu
(@}
0G0 01 0G0 01
‘dAL 0GZ'0 ‘dAL 0GZ0
s 1HOIFH 9NINIdO H3IANOT =




NOILVAT 13 S m/

AWN9Y /9 Z =%
ON_ONIAYHE QYD mewm e 25 N
77 10 7 INNOW JTONY SNONNIINOD Mmmmmm S8 o

MIANOT QW9 /9N S3OS§f ¢f ° :

ON_L33HS IILLL R Zc8y 2 95,2
144 SL¥¥S NISNOOSI 0 THIIOFOS $ R2gs % W E2g5
75778 mm_z”jém nSHOM DY} %00] aY] — S2xf: L8oup
0102 =\ 5238
3190 AL NAYAT = L J‘_@MM /MN( R 2858

=
O
T
o
S
=
i
1o
x
O Dl..5
I
M
0 O
~
‘l.o
o F
= |
L &=V )
—I
5
Y=
<o
SSY N Rt N 3 A R S N R N O N N N N O T O I O T A O O X.W
X 4+ 4+ 4+ ] L] <
=
3
o
83
N
M~
T
T
o
=
4 0]
e 5 =z
sle GE ©
ElO 22 g
=zl s O
ol | 444+~ L ",
N, 4] i Y N U S U IS N N N NN N DO A o ot U Y O O O O O < &
RS = L >
OO > 5
g 838 9
(@ o —
o 0
Ll
~E
=
_
=
5

|
!

(16
/27
-
|
|
| S—
—— e ——

14
/27

|
]
|
|
|
|
|
!
i
I
I
|
|
I
!
|
|
i
i
l
|
|
|
|
!
|
i
|
I
|
|
|

-

LOUVER WIDTH

<t LIHOIFH H3ANOT TVNLOV "XVA 000+ L

=1
GL€°0 0L :
e, : S/€°0 OL
dAL S2l°0 ‘dAL GZ1°0

=<t— IHOIFH ONIN3IdO H3ANOT £

-
|
[ ]
==

0.125 TYF’,__‘> 72.000 MAX. ACTUAL
e

T0 0.375




0.250 TYP,
TO 0.50

g ——

0.156

(23

(24
/22

HORIZONTAL
CROSS SECTION

iry]

Frr"

A
U

Lob

4

@

LOUVER OPENING HEIGHT

—]

144.313 MAX. OUTSIDE OF SLEEVE HEIGHT
144.000 MAX. ACTUAL LOUVER HEIGHT

!

0.250 TYP
TO 0.50

0.1586

0.125 TYP,
70 0.375

—={—=—0.156

36.000 MAX. ACTUAL
LOUVER WIDTH

36.000 MAX. ACTUAL

LOUVER WIDTH

36.000 MAX. ACTUAL

LOUVER WIDTH

OUTSIDE OF SLEEVE WIDTH
UNLIMITED LOUVER OPENING WIDTH

36.000 MAX. ACTUAL

| . 36.000 MAX. ACTUAL

LOUVER WIDTH

LOUVER WIDTH

0.156

36.000 MAX. ACTUAL

LOUVER WIDTH

i)

.
1 1
of

U:lj

VERTICAL
CROSS SECTION

PRODUCTREVISED
TO 0.375 aomroa v 0

(@]
(@]
N
9 |
-5 =
< ‘—‘—:—%
=
mnhogﬁ_
sl N2 M 2 IS
27 Y
g 5 K =
/| ) O
o
o | <
E.l\ |
W &g | 1
2z | O
218
28 =
-'—J—l\;E
d;f.s =
8ol r X O O
@—E:@L,JLLE;:
0)(3 { <ﬂ:
559>|_,_|
(ﬂ?l—mr\DQLl_la
0 9254
<€ L) W
1 _
@ gum
©
d—
I~
w0
¢
=

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
WwWw rice-inc.com

Florida Firm No: F-01000005041
Certificate of Authorization; #9090

L. David Rice
Registration No: 50923  /~

WS 0820,,
+ +

LN
IHTI AN

SEP U 3 2010



HORIZONTAL
/25 /26" CROSS SECTION
- /27 - /27 -
¥ e SR 3 ¥ r SR T T %
B J il
=i S =
w
=5
n o
N
— O
ol—
I—
T
o
Ll
T
l—
T x
5 &
T3
) —
= -
z 3
o =
& <
o .
L >
2 2
@]
- (@]
o
S
<
<
(oM7)
5
n o
N
— O
ol—
B
__| 36.000 MAX. ACTUAL __| 36.000 MaAX. ACTUAL | 36.000 MAX. ACTUAL
0.125 TYP, LOUVER WIDTH | 35 000 max. acTuaL | “OUVER WIOTH — | 56 000 Max. actuaL | POUVER WIDTH 156000 max. AcTUAL
T0 0.375 ) LOUVER WIDTH LOUVER WIDTH = " "LOUVER WIDTH
UNLIMITED LOUVER OPENING WIDTH

| 0.125 TYP,

TO 0.375

VERTICAL
CROSS SECTION

O
O
<
3 | N
N O
0 =
L o]
O |2 @)
w - —
>0l oNZ < |12 ™
=g Ry vz O
=z (W] fan]
= - E a \d
z 3 3 S
O
2.8 < B
| 2
— IO D
gz | O O
Lz > =
281
J528 2
Sql O @)
Lun o = —
o FE-
2zo > <
F\gl——mr\ ) a
0 ®) % .
. 3 Ll
o -
@ > Z
O
<t Z
~ O
O O
x

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www . rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice /

Registration No: 50923

'},,}?f@g\\;ﬁ;%

i

SEF U o 200




7 T N HEAD DETAIL Q
HEAD DETALL BUILDING STRUCTURE/DEPTH MAY VARY. // ~ \ﬁa\\ LOUVER HEIGHT < 144 IN. 5
BUILDING STRUCTURES INCLUDE BUT NOT
R (1A LOWVER HEGHT < 144 . LIMITED TO WOOD FRAME, STEEL STUDS, <
s 2 @ / STRUCTURAL STEEL AND CONCRETE/MASONRY @ & WELD o N
o BY OTHERS).
2e [ ) /‘ PERIMETER k8| N o
E g ; 50 =
220 e T TS 6,0¢ 8,/ CONNECTION el =l
S38 g SPACING O
‘ ‘ T S 125/ T —10" / @ > ~
0 D (/.) N . =
e - o X =4 B w2
? Tt R = 15 — A — = A S\
e ZJ S o 2
S0 | @6" 0.C. @ =z S
1 \ | SPACING -
- <+
' w 2.2 <
ny —
| . 55 V]
| 18" 0.C. 59 =z T
SPACING —Z o
| B8 | o W I-Z— s
=48 > =
: o © —lx35 2 T 3 =
do O
' ok EEEE
BLADE SUPPORT AND | £39 A O
| BLADE SUPPORT ANGLE | () S O >
w I NOT SHOWN FOR o =z j
e g g CLARITY. SEE PAGE 8 <+~ § Y=
: o .3 DETAILS FOR BLADE R o S0 V)
S 5 Sy SUPPORT OPTIONS. |
g B Su | X 3
© 5t | 18" 0.C 2
< | spacing 89 = L
I = T
| P~
I o
| RICE
| (8) N ENGINEERING
| 105 School Creek Trail
l Luxemburg, WI 54217
Phone: 920.845.1042
/ B/ TTE | Fax:  920.845.1048
| www rice-inc.com
SPA%](@C i T35 T8 Florida Firm No: F-01000005041
/ : |(2\ Certificate of Authorization: #9090
&SN L. David Rice y
22 i 1!\%&0 \ e Registration No: 50923 ////
| L A28, 1710 r—— = @ . Mty
— = ____’ § WELD PERIMETER SR g
T RO 4
e s % \ y @ CAP Y/
[ - ”
R 8 \C@ 22 8/CONNECTION
o £
& g SILL DETAL \ BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT
g 8 (24 LOUVER HEGHT < 144 N N—LIMITED TO WOOD FRAME, STEEL STUDS, SILL DETAL
- ° \”y STRUCTURAL STEEL AND CONCRETE/MASONRY @ LOUVER HEIGHT < 144 IN.
(BY OTHERS). NEZ




BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT
— LIMITED TO WOOD FRAME, STEEL STUDS,

£ 5 HEAD DETAIL
s 3 (3" LOWER HEIGHT < 35 . / STRUCTURAL STEEL AND CONCRETE,/MASONRY
2o 6/22 (BY OTHERS).
Dﬁ: a @ﬂ U
= |
S8y ‘ /. T / 6,/CONNECTION
T T % = 35/ T=T0"
e x = X
f / 1Teds] ® T 4
[SSRL \
\ i\ \\@
\C@ 67 0.C.
SPACING
18" O.C.
@>/ N SPACING
]j//) BLADE SUPPORT AND
BLADE SUPPORT ANGLE
L NOT SHOWN FOR
g o 8% CLARITY. SEE PAGE 8
z 4 -4 DETAILS FOR BLADE
S w & SUPPORT OPTIONS.
20
i W 9
Q w
7 g
6” 0.C.
///// SPACING
Q c S NI
35 1257 17-10"
u \
! 1 .4
11 7
R8= &
2de ° '_ 39 6,/CONNECTION
o P
T (: 3 SILL DETAIL
E ¥ m LOUVER HEIGHT < 96 IN. BUILDING STRUCTURE/DEPTH MAY VARY.
o 9 NG BUILDING STRUCTURES INCLUDE BUT NOT
83 \— LIMITED TO WOOD FRAME, STEEL STUDS,
o

STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

HEAD DETAIL
LOUVER HEIGHT < 96 IN.

8/25/2010

DATE

o OF 22

MES
1/2
CAD DRAWING NO.

SHEET NO.

K6 /746MD

DRAWN BY
SCALE

The look that works™
SCHOFIELD, WISCONSIN 54476

715-359-6171

RO IELRRE

FLANGE FRAME
SLEEVE MOUNT

A

WELD

INTERIOR

K6746MD LOUVER

=

HEAD & SILL DETAILS, H<96”

TITLE

RICE

ENGINEERING

105 School Creek Trait
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005041
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923/// '

Ot U5 20T



HEAD DETAIL
m LOUVER HEIGHT € 144 N,

&

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

FASTENER EDGE
l‘ DISTANCE

LOUVER OPENING

0.125 TVP, TO 0.375 ———onf fuan

ACTUAL LOUVER HEIGHT

—

o

A

&1

6" 0.C.
SPACING

8" O.C.

@/7111
SPACING

18" 0.C.
SPACING

BLADE SUPPORT AND
BLADE SUPPORT ANGLE
NOT SHOWN FOR
CLARITY. SEE PAGE 8
DETAILS FOR BLADE
SUPPORT OPTIONS.

@ /@@ 8/END
/|

P

—e 0,125 TYP, TO 0.375

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS).

SILL DETAIL
8 LOUVER HEIGHT < 144 iN.

&

T il \I

EXCESS MATERIAL BEYOND FASTENER
EDGE DISTANCE IS ALLOWED TO BE

<R 1,/@ REMOVED (THIS LEG ONLY).
<R ¥
<] MULLION ANGLE MOUNT (SHOWN HERE AT SILL)

IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP. DETAIL
IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

=/

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

HEAD DETAL
f;\ LOUVER HEIGHT < 96 IN.
i)

_\®
e

LOUVER OPENING

0.125 TYP, TO 0.375 ——e~f =

ACTUAL LOUVER HEIGHT

&
N\

8" O.C.
SPACING

BLADE SUPPORT AND
BLADE SUPPORT ANGLE
NOT SHOWN FOR
CLARITY. SEE PAGE 8
DETAILS FOR BLADE
SUPPORT OPTIONS.

AN

18" 0.C.
il SPACING

@78 6/END

ol fe— 0,125 TYP, TO 0.375

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS).

SILL DETAIL
8 LOUVER HEIGHT < 96 IN.

&

4 A
1 /}@
|

kv \
EXCESS MATERIAL BEYOND FASTENER

EDGE DISTANCE IS ALLOWED TO BE
REMOVED (THIS LEG ONLY).

- ’/;@
TR i
<R ] MULLION ANGLE MOUNT (SHOWN HERE AT SILL)

)| OF HOLES [N THE MULLION END CAP.
IS TYPICAL FOR BOTH HEAD AND SILL
— CONDITIONS WHEN APPLICABLE.

IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE
DETAIL

8/25/2010

DATE

/ OF 27

CAD DRAWING NO.

MES
/
K6 /746MD

DRAWN BY
SCALE
SHEET NO,

H<96”

The look that works™
SCHOFIELD, WISCONSIN 54476

715~-358-6171

K6746MD LOUVER
CONTINUOUS ANGLE MOUNT
HEAD & SILL DETAILS, H<L1447,

ROLNTMS

HEAD & SILL DETAILS,

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

Y/ 4

(Y3 LR TR TS
oo
‘erid Ot

X

£ o RSN
. SITTNA0 R M
0 s B o

N d T 632 \
OTIIATATL
SEP' 3 o010




TYPICALLY, ONLY ONE BLADE BRACKET TYPE (ITEMS
13 & 43) IS USED ON THE ASSEMBLY. BOTH
STYLES ARE SHOWN HERE TO SHOW DIFFERENCES.

BLADE SUPPORT DETAIL
m LOUVER HEIGHT < 144 IN.

8/22

TYPICALLY, ONLY ONE BLADE BRACKET TYPE (ITEMS
13 & 43) IS USED ON THE ASSEMBLY. BOTH
STYLES ARE SHOWN HERE TO SHOW DIFFERENCES.

A

|

BLADE_SUPPORT DETAL
/98 LOUWER HEIGHT < 96 IN.

8/22

(=
L

BRACKET IS ATTACHED
TO SUPPORT ANGLE IN
TYPICAL STYLE AS
SHOWN IN DETAIL 9.

BLADE/BRACKET IS
ATTACHED TO THE
BLADE SUPPORT ANGLE

BLADE/BRACKET IS
ATTACHED TO THE
BLADE SUPPORT ANGLE

N

BOTTOM LEG
CUT OFF

R

|
5
“®

=

8 I

E3

Qo

R £

% S

=14 R

zF Zo

e zF

g o

< n

<
oJ 4\— =t
NOTE: THE BLADE SUPPORT ANGLE (ITEM 7A) IS NOT SHOWN IN THE BOTTOM
THREE DETAILS IN ORDER TO IMPROVE DETAIL CLARITY. THE BLADE SUPPORT
ANGLE IS NOT ATTACHED TO THE BLADE SUPPORT BRACKET (ITEM 13 OR 43)
IN THE BOTTOM THREE DETAILS AS THE BRACKET IS ATTACHED TO THE SILL
INSTEAD. BLADE SUPPORT BRACKET ITEM 43 CAN REPLACE BLADE SUPPORT
BRACKET 13 (SHOWN) IN ANY OF THE DRAWINGS FOR DETAIL 10.
BLADE /BRACKET :)\
THE SILL ONLY. S e o cHED TO Ut sHORT BLADE /BRACKET BRACKET
' IS ATTACHED TO CUT SHORT

NUBS REMOVED

AS NEEDED
OREJ

:
o
e
20
I=34]
| i
-
F =]
Qa 2
: -
%E
2
|\§
"
N WELDS ARE ALLOWED TO BE
REPLACED BY TYPICAL BLADE
SUPPORT FASTENERS WHEN

ROOM ALLOWS.

o

w

=
UBS AND/OR ER
LEG REMOVE <0
ae
-
2g
OREY || &

WELDS ARE ALLOWED TO BE
REPLACED BY TYPICAL BLADE
SUPPORT FASTENERS WHEN
ROOM ALLOWS.

BOTTOM BLADE SUPPORT DETAIL
/10 LOWER HEGHT < 144 IN.

THE SILL ONLY.

AN NUB
REMOVED

WELDS ARE ALLOWED TO BE
REPLACED BY TYPICAL BLADE
SUPPORT FASTENERS WHEN

ROOM ALLOWS.

5 °®
N

O
-
N
B N
L‘JC\I C\J Q
i—\
o
O 2 ©
g <t
NS =
NG
= LIJ\"—I_ a
= | L A\
<< <T L (=)
o o T <T
= [%2] %] Q
2.8 N
@%% —
S= <
| X i
o3 | Ll A
e 2
N O
g8y O o
—om
ok -
r\?ﬁ&%? - &
© %)
N
< 26) g
~ <
1
m
Lt
_
=
‘_—

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

| Florida Firm No: F-01000005061

Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

U /
AT/
aw sy /)
a LI
okl

\/"‘,-"’ (J e A
s \-’\

Sl ONAL

ST

QO v cypyaes
JRCY) S V) U




]
|m)

]

0.125 TYP, TO 0.375 —c=

SN

<

12" 0.C.
SPACING —
=
R 128/ 1"—8
| N\
>_ rd
% 6” O.C.
,5 _8 ; SPACING
= Faiai
<('_D\ 3 ]
=2 —
2D W L =
>_m = v =
< 4
S Wi
oo
L2105 6" 0.C.
Bz SPACING
o~ =98
< Z
D&rx <
ol | -Q——-@
D I ] )
[ N
OO0~
2220
5520
Crp kX 125,73
OO i o
ZZoh =
agay O o
=JEZ,
i R - g E‘
T X
ACTUAL OVERALL LOUVER WIDTH,
0.156 —a- ACTUAL LOUVER SECTION WIDTH, ——

INSIDE OF SLEEVE

p—————— QUTSIDE OF SLEEVE

p—————— LOUVER OPENING

m JAMB DETAIL

8/22

<~ 1

S

(2

SUPPORT DETAIL
LOUVER HEIGHT < 144 IN.

9/22

12B

SUPPORT DETAIL
LOUVER HEIGHT < 96 IN.

9/22

o
)
N
B Q\
L‘JC\J N Q
= TSN
OZ
g'¢
n| g S~
;%J\%OU%LO
2Ty |G N
z g ¥ Z
gf/)f/) QO
] &5
=5
o
}]35 v
—=o | —
2> =z 0
X W© <E
Sde 9 ¥ Q&
oF S
[«b}
2ed o w o, &
?? = O > m
© zZ s
ﬁ'iu_!{
~ ]
<
< O L W
'
Ll
|
'_
=

RICE

ENGINEERING

105 School Creek Trail -
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice /
Registration No: 5092.3’7 /

.t

i R e
ﬁ%‘!a‘dﬁi’ (AN

LB

[l sl Y

[a»)

Z s
VLT U J CUl



SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS).

0.75 MIN 3 8" 0.C.

I SPACING

-

ALTERNATE ORIENTATION — 1]
(CAUTION, BOLT CLEARANCE)

N

125,73

\@(g}@f -J

ps

E y.a

0.125 TYP, TO 0.375 —e

4

ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH

p————— LOUVER OPENING

JAMB DETAIL
LOUVER HEIGHT < 144 IN.

Wk

2/END, HOLDS SHIM BLOCK

W

2/END, HOLDS SHIM BLOCK

SUPPORT NOT ATTACHED
AT HEAD AND SILL AS

TO ALLOW IT TO "FLOAT”
DURING BLADE LOADING.

SUPPORT NOT ATTACHED
AT HEAD AND SILL AS

TO ALLOW IT TO "FLOAT”
DURING BLADE LOADING.

SUPPORT DETAIL
m LOUVER HEIGHT < 144 IN.

S

o
&
N N
O N
2N O
S 00 L | =
O B
g <
N Nig O 5§ I~
=0 N 2 B ©
>"JL;J
s IS Iz L
E 8 v o
|._
=2
3| x =
'58]-‘-' N
S Sy 2
é%gzo@ <
Qi o= 8
[«6)}
r\?vféggm
0 o 3 g
ﬁ'o =
™~ D -
< §Z
—
) S
O
Ll @)
|
'_
=
ENGINEERING

105 School Creek Trait
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 7/ A

SUPPORT DETAIL
LOUVER HEIGHT < 96 IN.

PRODUCT REVISED

& complying with the Florids

Building Cede .

Acceptance No 7 C%:
pi

By %__“
i Product Control

Divisi

S A I V= X Ve

Sk 0 o LU0

Py



18" O.C.
SPACING

/Q

AN NN NN NN

A

MAX. 3.500

18" 0.C.
SPACING

AN NN NN NN NN NE

\—

6" 0.C.
SPACING‘\ \Q‘// i

6" 0.C.
SPACING @

s

WE\
N

Vi

1253

i

&

/15

ACTUAL LOUVER SECTION WIDTH ————=
ACTUAL OVERALL LOUVER WIDTH

r2———— ACTUAL LOUVER SECTION WIDTH

\EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

MULLION DETAIL
LOUVER HEIGHT < 144 IN.

< W

It

I 1{

)

Rl

< U

125

ACTUAL LOUVER SECTION WIDTH

I8 \EXPANSION JOINT OF UP TO 0.25 MAY

ACTUAL OVERALL LOUVER WIDTH

BE USED ON LONG OVERALL WIDTHS.

ACTUAL LOUVER SECTION WIDTH

MULLION DETAIL
@ LOUVER HEIGHT < 96 IN.

SEP
PRODUCT REVISED.
Duulding Code

o
N
N QN
Lo QN
AN O
S 0 L =
O B
g <t
U)C\Jljx——"“l\
Y N — § ©
ST S X
S s
(= [ % D (%2 O
.2
(@]
;%D:
}:‘*aé I
B2 2 = Z2 2
dx_s << 2D =
gdy O ¥ O W
=gy - = o
230
[ W =
rﬂ‘? = O > o
©ZDJ:
<+ < L —
~ 5
< O L owm
¢ =
(Y]
|
l_
=
ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization; #9090
L. David Rice

Registration No: 50923

03 2010

e,
.,
.




.

JYVLISH ‘STvi3 G S
AN9 /9N 13d NOITINW S £ .
ON_ONIAWHA_ 092 mmem - 25 )
INNOW JTONY SNONNILNOD N8558 88 g
¢¢ 40 ¢l 52320 55 8
d4AANOT A9 /9 S5 o288y w3 7
ON_L33HS ___ 37LIL E 52 € 25,2
Sc/l 9Lv%S NISNOOSIH 0 T3HONDS @) N gsx W Eozs
e mm__zuéuw nSYIOM JDU} 00| Y] | =aEe ©82%
0102 = 5288
eI AL NAYC WI_H_J _|_|_@MM v < R 985 e

HLOIA NOLLO3S ¥3IANOT TVnLOov

HIGM Y3ANOT TIV¥IA0 TVNLOV

'SHIAIM TIVYIA0 ONOT NO Q3sn 38
AVA GZ°0 OL dn 40 INIOP NOISNVdX3

H1GIM NOLLO3S ¥3ANOT VNIV

fr=
H )

L

7

£/15TL

pe
o

NIOVdS

PRODUCT REVISED
s complying with the Florida

)
\@ 00 .9

A1VH1ISHNS

T T — Tz

4
SN

“_

O
Om

O O O
O

168

12/22

JONVLSIO
3903 YINILSVA

}

@ll@\ﬁl
O O O

an3/s

"318v0ddY N3IHM SNOILIANOD

TINS ANV av3H HL08 ¥O04 TvOIdAL SI

VIAaQ  "dvO AN3 NOITINW 3FHL NI S3TOH 40
3SN AH Q3A3IHOV 38 ILONNVD 3JONVISIA 3903
YINILSVA WNWINIAN J¥3IHM S3LvHLISEANS ¥04 SI
(TS 1v 3¥3IH NMOHS) INNOW F19NY NOMINW

HLOIM NOLLD3S ¥3IANOT VIOV

HIdIM ¥3AN0T TIVHIAO TWNLOV

‘SHI1QIM TIVH3IA0 ONOT NO @iasn 34
AVA GZ°0 OL dn 40 INIOr NOISNVdX3

HIQIM NOLLD3S H3ANOT TvNLOV

7

glsel”

AR

pe
o

=% ONIOVJS
\@ 20 .9

= o ¢ —

31vd1Sans

Ny Bl

E

ANVANNANNANNAN

H

AN AN NN NN

12/22

MULLION DETAIL
m LOUVER HEIGHT < 144 IN.

|

¥04 vOIdAL SI vlId

'dvD AN3 NOITINW 3HL Ni

30NVISIa
Jo@ xﬂzuﬁﬁ_
by
@ ONIOVdS
‘00 8Bl
‘318Y0ITddY NIHM SNOILANOD TUS AONV av3H HLod

S3T0H 40 3sn

A8 J3A3IHOV 39 NVD 3JONVISIA 3903 YINIALSYA WNWININ IHIHM
SALVYISANS ¥O4 SI (AVAH LV 3¥3H NMOHS) LNNOW 1038 NOTINW




96>H ‘STVLIA NOITINW O 8
AW L9 = -2
TS INNOW FTONVY SNONNILNOD Mmmmm : mm A
RN3oss8 88 g
¢¢ 40 ¢ | S0%280 55 B
d4ANOT AN9¥/9M O8N T2
‘ON_L33HS __ ERINI R zcoy & 82,2
S/l OLb¥S NISNOOSIH "0 131I0H0S @) RS 865 W Eegs
37938 wSHIOM 1DY} %00] 8y} 23z 8 5oL b
010¢/G2/8 S3IN S RE o
/ H_A,a AE NAWT = L FC@MM v/ N M 5858
"SHIQIM TIVHIAO ONO1 NO @3sn 3 1//~ \@V
AVA SZ°0 OL dn 40 INIOP NOISNVdX3
TE S
i3
69— ; 34
s “vm
£ sz m mmwm
®— mumm.
6O— ; ONIOVdS m
| J\@.O.O «9 mm
O O O Of — O O O O 2D
y S E
O O m m O O‘W JONVISIa
w1/ I o ) A - /s B = A i w 1 HTH T oo T T o~ - |I||f|¢
O 0O/ 0 L o o o
’ N@ ONIOVdS @@
@ @ ‘00 .81

JIvd1SaNns

1ivi3a

GN3/9

"378v0rddY N3HM SNOILIONOD
TIS ANV av3H H108 ¥0d4 TvOIdAL SI
'dvO AON3 NOIMINW 3HL NI STT0H 40

3ISN A8 (3A3IHOV 39 LONNVD JONVISIA 3903
YINILSV4 WNWININ 3YIHM SFIvHLSENS Y04 Si
(TS 1V 343H NMOHS) INNOW F19NV NOITINA

HIGM NOLLDAS ¥3ANOT VNIV

HIGIM ¥3AN0T TIVY3A0 VLDV

H1QIM NOILO3S ¥3ANOT TVNLOV

'SHIQIM 7TVH3IA0 9NOT NO Q3sn 3g
AVA GZ°0 OL dn 40 INIOM NOISNVJX3

b

| Mw_ﬁ

7

£ 7lser

AR AR ARALARRAARRR AR AL ALY

pe
o

MULLION DETAIL
LOUVER HEIGHT < 96 IN,

‘00 .9

L \@wz_o<n_w
}

17A

JONvLSIa
3903 YINILSVY4

ONIOVdS
‘00 .81

“A8YOIddY NIHM SNOILIONOD

TIIS ONV Qv3H HLOH ¥04 IvoIdAL S! Tiviad
'dvO ON3 NOIMINW_3HL NI S3T0H 40 3sn Ag
J3A3IHOV 389 NWD JONVLISId 3903 M3INILSVA
WNNININ JY3HM STIVYLISENS 804 SI (Qv3H
1V 3¥3H NMOHS) INNOW 1034iG NOITINW




+—0.125
H-0.156

~i }-—0.125 TYP, TO 0.375
— ||—0.28 TYP. TO 0.50

LOUVER OPENING
OUTSIDE OF SLEEVE
ACTUAL LOUVER HEIGHT,
INSIDE OF SLEEVE

&
ST < v (e S
Ty <1 5
e SUDNG SRS e e e e N N
/—LIMITED TO WOOD FRAME, STEEL STUDS, m C\I
STRUCTURAL STEEL AND CONCRETE/MASONRY
] (8Y OTHERS). = Q Q
'._
<<
ST T, v 2% Sl =
MASONRY (CMU) (BY OTHERS). O B
' | g <
RS 5 & Q% < S S
5 12" oc. 6" O.C. M — £ W0
h 2 - 04
o \ SPACING  SPACING - L.J - & K
R ) | Ll
£ < <C Ll f=u]
e ) I <T
8 = A 2 &)
—
@/ oz &
o | ¥ D
2.~ D)
1 B3 | O
=5 = Q2w
]: 2z | O =
2 > W <
S8 N> W=
=2 L
== ; L O
X .© ] O
I:r ogl =
w LL.' \
Q| -
250 > = n =
P -4 = 35 9
= D
g § < O Z )
> b = <
o) Z Wi
<~ W o I
O
™~ @)
o =
4
S
- L
ENGINEERING
105 School Creek Trail
6" 0.C. Luxemburg, WI 54217
SPACING @ &@OR Phone: 920.845.1042
. 6" 0.C. Fax: 920.845.1048
;EAC?Q% SPACING www rice-inc.com
Florida Firm No: F-01000005041
Certificate of Authorization: #9090
L. David Rice //
Registration NO:,

\
ot g
~={ |=—0.125 TYP, TO 0.373

R —
. = |
' L

,,f lg 3

= ¢
ge*® BUILDING STRUCTURE/DEPTH MAY VARY. SUBSTRATE LIMITED TO WOOD,
pe Eaun%cmswggg:%gcwns BuT Nor STEEL, CONCRETE AND MASONRY
£E /’_smucrum STEEL AND CONCRETE/MASONRY (CMU) (BY OTHERS).
83 (8Y OTHERS).
- SRL DETAL
¢ mfoli"mumsmn. (21 LOWER HEGHT < 144

NG NG

SEP 0 3 2010




MANUAL QUADRANT ACTUATOR AS SHOWN

NOTE: DAMPER MAY BE OPERATED BY
MANUAL QUADRANT, AN ELECTRIC OR
PNEUMATIC ACTUATOR.

X

(@]

x W
~

® 5
w)
w)

@

Y

ACTUATOR DETAIL

///;;\\\ LOUVER HEIGHT < 144 IN.

15/22

%_ _____________

O
&
N
N
N =
= 00 L ) >
O B O
g <
m - —
S| R R =
=>| T
= L E a X
Z 12 |u a
= S |z I
[a=} [%)] (7] Q
N %5 o
-E;E% O
= éé v t;E
58| W -
£25 O 5
o = <
Sy <
_E'fg D D
CD%:') <€
Lo O
o~ O )
e 3
)] 1
< O <C
> D
e
<C
=
L
|
=
'_

ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845,1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923, 7 7~

VoSSionm. S

\
Ui

SEP—6—3——2010




O
-
S
N N
Lo N
N
E N )
~ 00 L ) >
O g 0
2 3
Nl Mz =
nll| ~JZ2 © 2 ™
==, - A ©
: B g k<
é (48] I <<
p [=] [%) 2 Q
S o
18" 0.C. 18" 0.C. © < ﬂ
T SPACING SPACING R | =
] m%‘% a =
£ / / g }: =z | =
i Zz ()
© g g ==
g 7 52K S £
12" 0.C. A /] = = < 2 Z
SPACING 7 /) =7 O
. \ ez X - s I
R~ — AN S G==3
— % =52 L )
08 VCD—40 1 7 VCD-40 N L =
: 222 Vi 0 ®) O >
X §g U;&g 3 - L C:)
583 — S R
Saop 6" O.C. < L O <
Suggx g SPACING 3
ap éé 3 8" 0.C 8" 0.C. 0
355 o SPACING an
g2 .0 SPACING <
W ™~ =
Susz © <
il Lud
E —® g ESD-635D ®—= ESD-635D =X I
3385 T =
EE= o
nun |9 é E' . K .
QO D > p: B
il | ol | & - RICE
=== = a———1
233k @ P @ | f | @ f H H f ENGINEERING
, i .| 105 School Creek Trai
Luxemburg, WI 54217
@ @ Phone: 920.845.1042
® ©) G [ gramon s, o i 1o oze e - SO o 0 P TD 825 M Fox:  920.845.1048
e mmm‘,ﬁi wﬂ,m,,mm ~——— ACTUAL LOUVER SECTION WIDTH ———ovha——— ACTUAL LOUVER SEGTION WIDTH —— T ACTUAL LOLVER SECTION WIDTH ———e-r=——— ACTUAL LOUVER SECTION WIDTH —— www rice-inc.com
™ ACTUAL LOUVER SECTION WIDTH — ACTUAL OVERALL LOLVER WIDTH ACTUAL OVERALL LOUVER WIDTH
0.125 TYP, TO 0.375—od le——— TO QUTSIDE OF SLEEVE Florida Firm No: F-01000005061
- LOUVER OPENING Certificate of Authorization: #9090
JANB_DETAL MULLIGN DETAL 70" LOWVER HEGHT < o6 IN. L. David Rice

23 LOUVER HEIGHT < 144 IN. 24A LOUVER HEIGHT < 144 N.

Registration No: 50923

\\I\HHH”,’

g;ﬂ‘i}

3

Saud
PROCUCT REVISED =
a3 complying with the Florida =

anitt

15/ Ny é’(:{‘ N
f ””’I?ﬁ!.ﬁi};\\“ N




SpAGG /@ ’1/?
@\@5
@ | —

18 vYCD-~40

]

<==3ff

ALTERNATE ORIENTATION —" ]
(CAUTION, BOLT CLEARANCE)

]

\@{Gg@{ -

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS).

o ACTUAL OVERALL LOUVER WIOTH,
ACTUAL LOUVER SECTION WIDTH
pe—————— LOUVER OPENING

0.125 TYP, TO 0.375 —e=

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C.
SPACING

|
N ==

ST L

N NN N

|
A

T

v

MAX, 3.500

AN NANN

6" 0.C. ®/
SPACING

&

&)
'[E'U

2 [}
Y &

————— ACTUAL LOUVER SECTION WIDTH

EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL LOUVER SECTION WIDTH

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
26\ LOUVER HEIGHT € 144 IN.,

&

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C. 0
SPACING @ 9 @

6" 0.C. @/
SPACING

J J EXPANSION JOINT OF UP TO 0.25 MAY

BE USED ON LONG OVERALL WIDTHS.

———————— ACTUAL LOUVER SECTION WIDTH ACTUAL LOUVER SECTION WIOTH
ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
268 \ LOUVER HEIGHT < 96 IN.

&

PRODUCT REVISED

as complying with the Florida

Building Code

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061

L. David Rice
Registration No: 50923 /' 7,

o
&
N N
0 QN
N -
S 0 e | =
O B
g <t
EQ'QEP\E S
— rz
I 2\
<T <T Ll =
g 13 15 S
@)
o = 9
WEA B
<3 >
]322 09 L
2 =
—Z2 | = 0
281
£~§:§5 =z
%d‘? &) O
Sug X = =5
LL_I’)LL]
@‘D%u")>< —
E%KD -
Y 2 v =
D
O )
o 2 Z
< EZ <
o =
- z g
58 2
20 S
=
ENGINEERING

Certificate of Authorization: #9090

Wi,

NN
NIRE

SEP—6-3—2010




O
o
NOTES: g ~
AVAILABLE SHAPES 3 QN ~
1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE ES L =
SIMILAR TO THOSE SHOWN AND HAVE CORNER = O B ©
CONSTRUCTION AS DESCRIBED ON ALL SHEETS. E <
% 2 I~
2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO =l 2 PEO
THE SAME PANEL WIDTH AND PRESSURE AS THE ' z7 |G A8\
RECTANGULAR LOUVER PANELS AND MAY BE STACKED % § é g
VERTICALLY AND HORIZONTALLY THE SAME AS THE
RECTANGULAR PANELS.
3. WHEN SECTIONS EXCEED 36" IN LENGTH BLADE ) &5 o
SUPPORT ANGLE AND BRACKETS ARE REQUIRED. é }: 2= <|1“ %
=5 5 A o
=25 > O <
d—éd‘? 3 - I
=i e ok
2ga > Y
fn\gl—mn = = 7
O 0 <
<t Z =
N o < >
XN <
<) ]
=
N\ E
« o =) RICE

Regisiration No: 50923 5 -7

WLy
W e iy
‘@g‘;\gﬁ@ o /L

caentt 3o 0T NS,
NSO

\\\\\
\\ Y

ENGINEERING
105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
. L. David Rice

“ o
nnnnnnnnnnnnn

—SEF G 3 2010



*EMBEDMENT DEPTH IS EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS. IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED Bv THICKNESS OF SHIMS. O
ITEM DESCRIPTION MATERIAL NOTES ITEM | CONCRETE | CMU [STEEL| WOOD| _ MIN, | FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS 5
1 LOUVER HEAD 6063-T5 ALUMINUM 50 | JAMB PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER[ # RQD. |CENTERS| EDGE |EMBED, * ~
2 LOUVER BLADE 6063-TS ALUMINUM 40625 MAX. SPACING S50A X 2KSI ‘POWERS WEDGE BOLT” 3/8 [VARIES| 6.00 | 1215 | 3.500 ~ QN
3 LOUVER SILL 6063-T5 ALUMINUM S0B X 4KSI *POWERS WEDGE BOLT” 3/8 | VARIES| 600 | 1.215 | 3.500 n e\
4 LOUVER JAMB 6063-T5 ALUMINUM 50C X 2KSI SCOTS TAPCON / TAPCON 174 TVARIES| 475 | 1500 | 1750 L ON )
5 LOUVER/DAMPER FLANGE 6063-T5 ALUMINUM 50D X 4KSI SCOTS TAPCON / TAPCON 1/4  TVARIES| 6.00 | 1500 | 1750 'Z\
6 FORMED SLEEVE 5052-H32 ALUMINUM 1/8* FORMED SLEEVE - DEPTH VARIES S0E 1.5KSI SCOTS TAPCON / TAPCON 1/4 | VARIES| 3.00 | 1.500 | 1.750 = L ) s
7A 11/2 X 1 172 X 1/4 ANGLE 6063-T5 ALUMINUM BLADE SUPPORT ANGLE SOF X 6SKSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | VARIES| 600 | 0.500 | 0.125 O g {@)
78 11/2 X 11/2 X 1/4 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMB OF SLEEVE S0G X | SG 0.42 LAG 3/8 |[VARIES| 6.00 | 1.500 | 2.375 o <
8 11/2 X 6 X 1/8 ANGLE 6063-T5 ALUMINUM JAMB ANGLE 51 | MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER| # RQD. [CENTERS| EDGE |EMBED,* >
9 11/2 X 1 172 X 1/8 ANGLE 6063-TS ALUMINUM USED AT HEAD/SILL/JAMBS OF LOUVER| | SiA X 2KSI *POWERS WEDGE BOLT’ 3/8 8/END | 150 175 | 3.500 S ﬂ g O 5 ™~
10 11/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD & SILL OF SLEEVE 51B X 4KSI ‘POWERS WEDGE BOLT” 3/8 8/END | 150 175 | 3.500 a= Z - T O
1 3 X 6 X 5/16 STEEL TUBE A36 STEEL SHIP LOOSE S1C X 2KSI SCOTS TAPCON / TAPCON 1/4 S/END | 2.00 150 | 1.625 z 5w |5 B\
12 4 X 6 X 1/4 ALUM. SHIMS 5052-H32 ALUMINUM USED AT SILL FOR SUPPORT ANGLE 51D X 4KSI SCOTS TAPCON / TAPCON 1/4 8/END | 2.00 150 | 1625 2 2 o =
13 BLADE BRACKET 6063-T5 ALUMINUM 4.5 LONG SIE X 65KSI Fy[BOLT/NUT OR TAPPING SCREW | 1/4 8/END | 1,00 050 | 0125 x |9 |T <
14 DAMPER HEAD/SILL 6063-T5 ALUMINUM SIF X | SG 0.42 LAG 3/8 7/END | 150 175 | 2375 | GROUP
15 DAMPER JAMB 6063-T5 ALUMINUM S52 | MULLION ANGLE MOUNT FASTENER, HEIGHT <=144 DIAMETER| # RQD. |[CENTERS| EDGE |EMBED, *|CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 3.75 MAX. SPACING SeA X 2KsI ‘POWERS WEDGE BOLT” 3/8 l12/aNG.| 3375 | 2250 | 3.500 | 3.766 —
17 DAMPER BLADE SEAL SILICONE/RUBBER TYPE MATERIAL VARIES S2B X 4KSI ‘POWERS WEDGE BOLT’ 3/8 9/4NG. | 3375 | 2.250 | 3.500 | 3.766 © =
18 DAMPER JAMB SEAL SS sec X 2KSI SCOTS TAPCON / TAPCON 1/4  132/ANG.] 2.000 | 1.500 | 1.750 | 3.375 r]_ﬂ” 255 —
19 DAMPER TOP/BOTTOM CLOSURE ALUMINUM 52D X 4KSI SCOTS TAPCON / TAPCON 174 [27/ANG.] 2000 | 1500 | 1750 | 3.375 =3 o 2 <
204 DAMPER LINKAGE BAR GALV. STEEL SeE 1.5KSI SCOTS TAPCON / TAPCON 1/4  132/4NG.] 2000 | 1500 | 1750 | 3.375 gz <+ O i
20B DAMPER LINKAGE BAR SS S2F X 69KSI Fy | BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| L000 | 0.500 | 0125 | 3.000 ] o | =
21A DAMPER AXLE BUSHING DELRIN 52G X 65KSI Fy[BOLT/NUT OR TAPPING SCREW]| 1/4 11/6NG. | 1000 | 0500 | 0188 | 3.000 ©8 Ll O —
21B DAMPER AXLE BUSHING BRONZE 52H X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 16/ANG.| 1000 | 0500 | 0188 | 3.766 £§§ > O O <
21C DAMPER AXLE BUSHING SS sal X 65KSI Fy/BOLT/NUT OR TAPPING SCREW| 5/16 |12/ANG.| 1000 | 0625 | 0125 | 3.000 l_;T ~e D > D =
22A | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/DELRIN BUSHING s2J X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 5/16 | 16/ANG.| 1000 | 0625 | 0125 | 3.76¢ 8‘34, O O
22B | NON-DRIVE DAMPER AXLE ASST. |2C STEEL PIN W/BRONZE BUSHING 52K X | SG 042 LAG 3/8  [16/aNG.| 1500 | 1,500 | 2.875 | 3.766 =8 0 O w
22C | NON-DRIVE DAMPER AXLE ASST. | ZC STEEL PIN W/ SS BUSHING SaL X | SG 0.42 LAG 3/8 [ u/aNG. | 1500 | 1500 | 2875 | 3.000 g%‘% ~. = O
22D | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ DELRIN BUSHING S3 | MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER| # RQD. |CENTERS| EDGE |EMBED. * (\2 —ox O =z = N
B2E_| NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ BRONZE BUSHING PRODUCT REVISED 538 | X 2KSI "POWERS WEDGE BOLT” 3/8 | 5/CAP | 150 | 16 | 3500 0 = Z
22F | NON-DRIVE DAMPER AXLE ASST, SS PIN W/ SS BUSHING M" complying with the Floride S3B X 4KSI 'POWERS WEDGE BOLT” 3/8 S/CAP | 150 16 | 3.500 O N O =
23A | DRIVE SIDE DAMPER AXLE ASST, ZC/GALV. STEEL -0 07 53C X 2KSI ‘POWERS WEDGE BOLT’ 3/8 S5/CAP | 2.0 175 | 3.500 <+ Z O M
23B | DRIVE SIDE DAMPER AXLE ASST. sS Expiration Dete 1; LL?%ejjc” é”iZ, 53D X 4KSI *POWERS WEDGE BOLT” 3/8 S/CAP | 2.00 175 | 3.500 Z N < N
24A 1/4 DIA E-CLIP ZP ﬂm' , S3E X 2KSI SCOTS TAPCON / TAPCON 1/4 6/CAP | 2.0 150 | 1750 W L] W
248 1/4 DIA. E-CLIP SS By __ S3F X 4KSI SCOTS TAPCON / TAPCON 1/4 6/CAP | 2.0 1.50 | 1.750 XNl > L
25 | #8 X .75 TPH TYPE AB SMS SS H’W : 536 X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 3/CAP | 100 | 050 | 0125 = 5
26 #14 X .75 TEK ZP S3H X | SG 042 LAG 3/8 S/CAP | 150 1.75 | 2375 | GROUP L
274 1/4-20 X 125 HH CS ZP S4 | MULLION ANGLE MOUNT FASTENER, H<=96 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.*|CENTER L 1 Z
278 1/4-20 X 15 HH CS SS S44 X 2KSI ‘POWERS WEDGE BOLT/ 3/8 4/8NG. | 3375 | 225 | 3.500 | 3.766 3 3!
27C 1/4-20 X 0.75 HH CS SS S4B X 4KSI ‘POWERS WEDGE BOLT* 3/8 3/ANG. | 3375 [ 225 | 3.500 | 3.766 =
284 1/4-20 NUT ZP 54C X 2KSI SCOTS TAPCON / TAPCON 1/4 11/aNG. | 2000 | 150 | 1750 | 3375 —
28B 1/4-20 NUT SS 54D X 4KSIT SCOTS TAPCON / TAPCON 174 S/ANG. | 2000 | 150 | 1750 | 3375
25 REINFORCING STRAP 18-8 SS S4E LSKST SCOTS TAPCON / TAPCON 174 __|11/ANG. | 2000 | 150 | 1750 | 3375 R I C E
30 1/4-20 X 562 BALL SWIVEL ZP 54F X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 7/6NG. | 1000 | 050 | 0125 | 3.766
31A | DAMPER BLADE DRIVE LEVER Ss S4aG X 6SKSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 6/ANG. | 1000 | 0.50 | 0125 | 3.000 ENGINEERING
31B | DAMPER BLADE DRIVE LEVER GALV. STEEL S54H X | SG 0.42 LAG 3/8 S/ANG. | 1500 [ 150 | 2875 | 3.766 105 School Creek Trail
32 DAMPER MANUAL QUAD ASSY, 541 X | SG 0.42 LAG 3/8 4/6NG. | 1500 | 150 | 2.875 | 3.000 Luxemburg, Wi 54217
33 5/16 DIA. LINKAGE ROD ZP )
34 [#12-14 X 3/4° TPH SMS 18-8 SS 18-8 SS GENERAL _NOTES: Phone: 920.845.1042
1. IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE Fax:  920.845.1048
35 RO X 1 1/4° SMS 316 SS 316 _SS LOADS IMPOSED BY THE LOUVER(S). www rfice-inc.com
36 174 DIA. SCREW SS 1 172”7 LONG 2. THE K6746MD AND K6746MD WITH VCD—40 HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC) AND )
37 1/4* DIA. SCREW SS 1* LONG TEST PROTOCOLS TAS—201 (IMPACT), TAS-202 (UNIFORM STATIC PRESSURE), AND TAS—203 (CYCLIC FATIGUE). Florida Firm No: F-0100000504]
38A DEAD LOAD SHIMS NOT BY GREENHECK 3. MAXIMUM SINGLE SECTION SIZE IS 72" WIDE X 144" HIGH. = AN
358 SEALANT AND BACKER ROD NOT BY GREENHECK 4. MAXIMUM ASSEMBLED LOUVER SIZE IS UNLIMITED WIDE X 144" HIGH. Cemfl§30T§ of Authorization: #9090
5. SECTIONS OR ASSEMBLIES MAY BE STACKED VERTICALLY PROVIDING A SUITABLE STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS L. David Rice
39 S 174 X 2 X 1/4 ANGLE 6063-TS ALUMINUM USED AT JAMB OF LOUVER/SLEEVE TO SUPPORT ALL LOADS TRANSFERRED FROM THE LOUVER. Registration No: 50923 %’/
40 4* CHANNEL 6061-T6 ALUMINUM USED AT JAMB OF LOUVER/SLEEVE 6. <T:|:1u SHALL BE OSPA €90, TYPE g, 2T,ooo MIN PSI GROUT—FILLED. egisirarion No:
1| WL SLEEVE BRACKEY | 50521 LU 7 B U SO WL A ALCHO s ISTALATON NETH0D it 0 Nor Regur T use o risTces a0 e
43 BLADE SUPPORT, ALTERNATE 6063-T5 ALUMINUM ALTERNATE STYLE 8. THE CONTINUOUS ANGLE MOUNT STYLE UTILIZES A CONTINUOUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. IT MAY BE
44 STEEL MULLION END CAP (SM) STEEL FACTORY WELDED TO MULLION m?gélﬁll_TE‘? (;r\l-i gggcs'?{fgg:['}?i#'{g’s?;%%#ug? WOOD ACCORDING TO THE FASTENER SCHEDULE. AIROLITE DOES NOT DETERMINE THE STRUCTURAL
45 | ALUMINUM MULLION END CAP (SM) 5052-H32 ALUMINUM FACTORY WELDED TO MULLION 9. LOUVER ASSEMBLY IS QUALIFIED FOR A MAXIMUM DESIGN LOAD OF +/— 150 PSF. 4 3
46 | STEEL MULLION END CAP (LG) STEEL FACTORY WELDED TO MULLION 10. LOUVER ASSEMBLY WITH AND WITHOUT VCD—40 DAMPER SHALL ONLY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS 3
47 ALUM MULLION END CAP (LG 5052-H32 ALUMINUM FACTORY WELDED TO MULLION DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM AND THE ROOM WILL HOUSE WATER RESISTANT/WATER PROOF EQUIPMENT, 3 T
48 |MULLION MOUNTING ANG. BRACKET| STEEL 36 KSI, OR 6061-T6 MULLION MOUNTING ANGLE, H<144 COMPONENTS, AND/OR SUPPLIES. 3 i
ye 1/4" DiA THREAD STUD S OR PLATED STEEL 1/5 MIN_LONG 1. INSTALLER TO PROVIDE SEPARATION OF DISSIMILAR MATERIALS AS REQUIRED. ’ 2 A . iy
12. THE VCD—40 MAY BE OPERATED BY A MANUAL QUADRANT OR BY AN ELECTRIC OR PNEUMATIC ACTUATOR. THE DAMPER'S ACTUATOR IS NOT TATE OF  £4f' S
PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY. 4 . PRIENE
13. FRAME CONSTRUCTION. HEAD AND SILL ARE SQUARE CUT. JAMBS ARE SQUARE CUT ® HEAD AND MITERED @ SILL. CORNERS ARE SECURED /OR\‘D \\\\\
) B

WITH (2) #10x1-1/4 SMS. BLADES ARE SECURED TO JAMBS
STEEL /STAINLESS—STEEL/ALUMINUM PARTS MAY BE MADE OUT
BLADE SUPPORT ANGLE AND BLADE SUPPORT BRACKETS ONLY

14.
15.

WITH (2) #10x1-1/4 SMS AND WELDED © EACH END.
OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH.
REQUIRED WHEN ACTUAL LOUVER SECTION WIDTH IS GREATER THAN 36 INCHES.




O
- 6.081 -— —
@
- 5731 - 5.730 - Q N
l 5.730 ‘ 1T CLQ N
LOUVER BLADE — LOUVER SILL AN -
LOUVER HEAD 6083—T5 ALUMINUM 6063—T5 ALUMINUM S 0 L. | =
6063—T5 ALUMINUM O g2
g <t
N g O § N~
o =L 2 N g ©
o 0 =R =X
< © ﬁ N Ld a
M < S g 18 v S
o) ©
OPTIONAL BLADE .
68063-T5 ALUMINUM © =
=<3 O
og @) ANp
]3 2 =
1 0.125 B3 | ol n O &
1.250 {1250 == &:?E s
T F— ! o9l & O [
h?—] I E— @9?‘?’ oD 0o DCE
D¥n = \
né.fax O =z 0
N —{ |~— 0.250 0 S =
< D ‘ © O ak
N o — —! |~— 0.125 F\f' O Z g
0.125 0.125 o o < o D <
« 5T A : e g3
o — A el
3 % ? f 6063—T5 ALUMINUM S Ly
- .
»‘ 1.741 |- i =
——{ 1.500 =
@ LOUVER/DAMPER FLANGE LOUVER BLADE f
— M
6083-T5 ALUMINU @ SUPPORT/SLEEVE MOUNT ANGLE |- 6.000 RICE
6063—T5 ALUMINUM ENGINEERING
Y — 105 School Creek Trail
Luxemburg, Wi 54217
- OPTIONAL JAMB — 6.000 - Phone: 920.845,1042
LOUVER JAMB 68063—T5 ALUMINUM 4 4 580 : Fax:  920.845.1048
6063—T5 ALUMINUM B 5.000 : www.rice-inc.com
. Florida Firm No: F-01000005061
Certificate of Authorization: #9090
—] l— (0.125 — —— (). 125 \\ \ \ \ \ L. David Rice
i { N Registration No: 50923
i I N N S PRODUCT REVISER
\ o a8 complying with the Flarida 8
S s S N N ¥ Building Code , \ 07 3
3 3 8 0.313 —=NJ=— Expintion Dot i ”
- — !
—— — N N By '
f * l \\ & Mism ade Producs Cono
nvision
\\ OO NN AN
—={ 1.500 —={ 1.500
N
Aﬁgg\F/JE/RENSTLE\%VGELE LOU\é%F;PSOLRETEVAENCEILJE\ = STEEL TUBE ALUMINUM_ SUPPORT SHIM LOUVER BLADE BRACKET
6063—T5 ALUMINUM 68063—T5 ALUMINUM A36 5052—H32 ALUMINUM 68063—T5 ALUMINUM

©




O
Te) wn —
I~ 1.000 —=  }<=— 0.655 o o L 5
0 0] 2 [0 ™~
= = ] N 2 < 1.061 q g
4.000 —>| ° o :] 0.081 | O
i ” H 0.317 2.310 gl N =)
z L
—jf=— 0.081 0.0 I &= 00 .=
) 082 — _%\' O B ©
’} > S Z[K 1} o <
DAMPER HEAD/SILL 3 g DAMPER BLADE SEAL DAMPER JAMB SEAL SO Nlg T
< R all UWRCIR SN =) o al ZA R ] el e o | Z
6063—T5 ALUMINUM @ MATERIAL VARIES 007" SS DAMPER TOP/SOTIOM |=5) ~7 ON g §
—ef s — 0,125 ALUMINUM zZ 2 |4 a
2 8 & S
S n _ KNURL PIN
S T Tel —
N~ N~
: 200 : = S m| 2
0125 —= DAMPER_JAMB DAMPER BLADE © 3 620 £5 o3
ﬂl § @ 6063-T5 ALUMINUM 6063~T5 ALUMINUM \li 3.620 ‘ - = 3.62 ‘ {] }: 2z v = T
=z
), (] » slu 00
==ty %) Lo
7 % N | 9 259 2
PIN PIN Sl & O L
0.376 od
DAMPER LINKAGE. BAR BUSHING \ 8 02 O O
r\gl——-ﬁf\' 0= = o
S— 0 = Z '_
NON—DRIVE_DAMPER AXLE ASSY, DRIVE—SIDE_DAMPER AXLE ASSY. © ook
) MATERIAL VARIES MATERIAL VARIES ~ O zZ
DAMPER AXLE BUSHING (.445” LG.) o NSO < o
MATERIAL VARIES © L]
) Tg=
o=
L 1
%)
=
[y

LOUVER JAMB
SUPPORT ANGLE

6063—T5 ALUMINUM

ENGINEERING

105 School Creek Trail

Luxemburg, Wi 54217
Phone: 920.845.1042

Fax: 920.845.1048
Www fice-inc.com

USSRl MULLION SLEEVE BRACKET
& 6061—-T6 ALUMINUM S5052-H32 ALUMINUM
¢
[v0]
[Te]

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice
Registration No: 50923
NN

yhitd
AN

A%
\ Noes ls /
ARV 7
e To B

——T;7/ 71.500 ///L=f-

—== 1.250

d.
~
[<e]
L K
—= 1.250
1

LOUVER JAMB
@ ATTACHMENT ANGLE
6063—T5 ALUMINUM i

ALTERNATE LOUVER BIADE BRACKET
6063—-T5 ALUMINUM




5.687

D
A
A
B
C
D
G

o 1584 fom = LENGTH =]
ALUMINUM < CENTERED
MULLION DRAIN HOLE FOR PAINT PROCESS
LOCATION r A "' B ">1
A
S 5 T O O O O O O
3 : S~
LOCATION ; B B :f ¢ O O
YOI STEEL
MULLION
PERIMETER WELD
576 Z QUANTITY VARIES WITH LOCATION
o FASTENER TYPE PERIMETER WELD
ALUMINUM _MULLION END CAP s
FOR SLEEVE MOUNT QUANTHI-:I\S\'I{éleERS TMIIE SUBSTRATE EDGE
5052—H32, 0.25 ALUMINUM \
FELDDRILLED \,  §|] ¢  ————=
LIFTING LUG L____ + + + + + +
A
STEEL MULLION END CAP ‘ ’
FOR_SLEEVE_MOUNT
0.313 STEEL r B 4>l
STEEL MULLION END CAP LIFTING LUG =
IM. DESCRIPTION FOR _CONTINUOUS ANGLE MOUNT <
>0.375/0.50 FOR 1/4¢ FASTENER IN ALUMINUM/STEEL 0.313 STEEL SN 1/4DN\ TOT=HN CUT LENGTH 6.0
>0.563/0.75 FOR 3/8¢ FASTENER IN ALUMINUM/STEEL FILLER/ 172], oW G LG |< : >|i
>FASTENER SPACING DISTANCE OER S|
>FASTENER CLEARANCE HOLE DIAMETER -] T
>FASTENER SUBSTRATE EDGE DISTANCE - LENGTH - GUSSET
ROUP CENTER = CENTER OF FASTENER HOLE PATTERN SUBSTRATE EDGE WELD BREAK ALLOWED Z |,
; ya /Y AT GUSSET(S) = 1/aNa A
< LENGTH o m ——Z——— S 5 /4,4 X\
B 0n
1 A B %JSA}NET,\‘ITE’; VT‘;F;,'ES WITH o GUSSET SUPPORT g
6 /— o ™~ | EXTRUDED ANGLE OR (IF REQUIRED) TWO WELD STYLE
= S | WELDED PLATES "a” - OPTIONS
" Do 4"x4" TRIANGLE VARIES —& f=—
O & ONE AT CENTER %27, >
OR ONE NEAR EACH END| W [OUVER LEG ]
; . ALUMINUM > & >
B MULLION S o | wl Ricusser
4] ® LOCATION & S CFILLER
SO/ O o © / c Z g 1/4 I\ TOTL=HIN CUT LENGTH ™\
©
a SUBSTRATE EDGE ‘g B / e
e 1/4N\4 /A
& FIELD DRILLED [ B g FILLER
/44
L1 I 4+ INE | g AN
A / QUANTITY VARIES WITH
} ) /" B/2 FASTENER TYPE \Q s
l(\ B 4>’ \_ QUANTITY VARIES WITH A O SIDE VIEWS FILLER MAT'L.
—= A FASTENER TYPE 7 SHOWN AT ALUM=4043 OR 5356
1/2 SCALE STEEL=E70XX
ALUMINUM MULLION END CAP L AL B ,I MULLION MOUNTING BRACKET  ==—
FOR_CONTINUOUS _ANGLE MOUNT FOR_CONTINUOUS ANGLE MOUNT
S052—-H32, 0.25 ALUMINUM VARIES SEE B.O.M. & TABLES BELOW
MULLION MOUNTING BRACKET TABLE, 1 OF 2 MULLION MOUNTING BRACKET TABLE, 2 OF 2
LOUVER |SUBSTRATE| LOUVER |GUSSET|MIN CUT{ MAT’L | PROCESS LOUVER |SUBSTRATE| LOUVER {GUSSETIMIN CUT{ MAT’L | PROCESS
HEIGHT | LEG THK.|LEG THK.| THK. |LENGTH| TYPE TYPE HEIGHT |LEG THK.{LEG THK.{ THK, |LENGTH| TYPE TYPE
S144 21/2 21/2 NA 16,5 |[6061-T6|EXTRUDED $S86 21/2 21/2 NA 6.6 6061-T6 [EXTRUDED
<144 27/16 27/16 NA& 24 A36 ROLLED <96 23/8 23/8 NA 12.34 STEEL | ROLLED
<144 2l/2 21/2 NA 18.5 A36 ROLLED <96 27/16 27/16 NA 9 STEEL | ROLLED
<144 25/16 21/4 25/16 20 6061-T6| WELDED <96 25/16 21/4 25716 S 6061-T6| WELDED
<144 25/16 23/16 25/16 20 STEEL | WELDED <96 25/16 23/16 25/16 S STEEL | WELDED

O
&
N
) ~
L O
= o) L | S
O B w
o <
>_$ Nig N E ™~
S 4w X
g 5 K 2
=] (%] (%) (]
'_
L
So O <
=5 = |
}:’4—'% 2 o
284 Y o L
294 O O Le
O:H “ 228
DT
r\2£§: 0O =z o
0 = Z —
© O A
TO 2%
@ @D =
N
Ll
o=
W -
- N
I._
=
ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923

SEf

)03')

010
\\\nmum,,,
?3““

A
-~ e ",
- \, /4 0
&N "
3

:’T/\Tr.._ QF

’;A A
. QR\V

SSoNAL ¢

/'Nnuum\\




